PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. /ARTICLE NO. / ARTICULO NO :D230-100

DESCRIPTION /DESCRIPCION : DESK - GRAY / BUREAU / MESA DE TOCADOR

Seriavs or Tatal crushing injuries can eocur
Troen Furniure ip-cver. To help prevent
lipsaver:

s Irstal ipaver resiming prosided.

* Placs Py sl jlame in e ol draswer

= D v st T 5 o alber hiany objacis oo top
of this preducd, unless the product is
apeahizaly deaires o accmnsialg han

= Maevanr il childnen ta climis ar hang on

drawors, docns, crsholws, d

= Blernr apan migne D ana deaswsr al g time 3

1CR) S

= O et daslmal of ramovs Bia dewses indarkack S / ﬁ

avilam
A @

bz of tip-over restraints may only redwos,
but nod aliminate. tha sk of tipover.

THig is A pamosnad daiel, Lo ool ramaue!
S x1 Table Top % x4 Legs ¢ x8 Flat Washer $5/16"x19x2mm ¢
x1 Dessus de table x4 Jambs x8 Rondelle plate $5/16"x19x2mm
x1 Tablero de mesa x4 Piemas x8 Arandela plana $5/16"x19x2mm

® o ®

x8 Lock washer ¢5/16" % X8 Hex nut $5/16" x1 Open Wrench 85/16" ¥ x1 Furniture Tipping Restraint
x1 Systeme antibasculement

x1 Clé a fourche #5/16"

x8 Rondelle de blocage #5/16" x8 Ecrou hexagonal $5/16"
x1 Llave de boca #5/16"

x8 Arandela de Seguridad #5/16" x8 Tuerca hexagona $5/16"

x1 Control para evitar vulcos

* Replaceable Part

Pagel of4 Made in Vietnam / Fabriqué au Vietnam /Hecho en Vietnam



ASSEMBLY INSTRUCTIONS /NOTICE DE MONTAGE /INSTRUCCIONES DE MONTAJE
ITEM NO. /ARTICLE NO. /ARTICULO NO :D230-100

DESCRIPTION /DESCRIPCION : DESK - GRAY / BUREAU / MESA DE TOCADOR

Troen Furniure ip-cver. To help prevent
lipsaver:

s Irstal ipaver resiming prosided.

* Placs Py sl jlame in e ol draswer

= D v st T 5 o alber hiany objacis oo top
of this preducd, unless the product is
apeahizaly deaires o accmnsialg han

= Maevanr il childnen ta climis ar hang on
drawens, doons, or shelves,

= Prnr agen mane Do 0 drewse al 3 ime
1CR)

= D mat defaal or remave S drwser infariock
syalam

bz of tip-over restraints may only redwos,
but nod aliminate. tha sk of tipover.

Titis 5 A pamaned (aoel, Lo rol ramavs!

L e ——

* Replaceable Part

Page 2 of 4 Made in Vietnam / Fabriqué au Vietnam /Hecho en Vietnam



ASSEMBLY INSTRUCTIONS /NOTICE DE MONTAGE /INSTRUCCIONES DE MONTAJE
ITEM NO. /ARTICLE NO. /ARTICULO NO :D230-100

DESCRIPTION /DESCRIPCION : DESK - GRAY / BUREAU / MESA DE TOCADOR

Seriavs or Tatal crushing injuries can eocur
Troen Furniure ip-cver. To help prevent
lipsaver:

s Irstal ipaver resiming prosided.

* Placs Py sl jlame in e ol draswer

= D v st T 5 o alber hiany objacis oo top
of this preducd, unless the product is
apeahizaly deaires o accmnsialg han

= Maevanr il childnen ta climis ar hang on
drawens, doons, or shelves,

= Prnr agen mane Do 0 drewse al 3 ime
1CR)

= D mat defaal or remave S drwser infariock
syalam

bz of tip-over restraints may only redwos,
but nod aliminate. tha sk of tipover.

Titis 5 A pamaned (aoel, Lo rol ramavs!

L e ——

* Replaceable Part

Page 3 of 4 Made in Vietnam / Fabriqué au Vietnam /Hecho en Vietnam



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO. /ARTICLE NO. /ARTICULO NO :D230-100

DESCRIPTION /DESCRIPCION : DESK - GRAY / BUREAU / MESA DE TOCADOR

Seriavs or Tatal crushing injuries can eocur
Troen Furniure ip-cver. To help prevent
lipsaver:

s Irstal ipaver resiming prosided.

* Placs Py sl jlame in e ol draswer

= D v st T 5 o alber hiany objacis oo top
of this preducd, unless the product is
apeahizaly deaires o accmnsialg han

= Maevanr il childnen ta climis ar hang on
drawens, doons, or shelves,

= Prnr agen mane Do 0 drewse al 3 ime
1CR)

= D mat defaal or remave S drwser infariock
syalam

bz of tip-over restraints may only redwos,
but nod aliminate. tha sk of tipover.

0 000 000 000 0oomp)
This is 4 pamoensn e, Lo i ramave)
S e —
x6 RD230-100-PULL-Pull + Screw % X2 COMGLIDE-14-35-Drawer Glide %
Poignée + Vis Tiroir Glide
Tirador + Tornillo Deslizamiento del cajon

&

x4 RC-BR-NAIL-Plastic nail - Clou - Clavo % x1 RD230-100-HWKIT-Hardware kit list *
Liste des piéces de quincaillerie
Lista del kit de materiales

* Replaceable Part

Page 4 of 4 Made in Vietnam / Fabriqué au Vietnam /Hecho en Vietnam



	D230 Model (1)
	D230 Model (1)
	D230 Model (1)
	D230 Model (1)

